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%+ Answer ALL the questions.
% Missing data may be suitably assumed.

Instructions to Candidates:

Explain the different kinds of error that may arise in chain surveying. Also indicate

1A the type of error for each one of them.
A river is flowing from west to east. For determining the width of the river, two
1B points A and B are selected on the southern bank such that distance AB = 120m.
" | Point A is westwards. The bearings at a tree C on the northern bank are observed to
be 30° and 330° respectively from A and B. Calculate the width of the river.
1c | Write a note on the classification of survey based on instruments used.
oA Compare the construction, principle and working of Surveyor and Prismatic
" Compass.
For the following traverse, compute the length of line CD so that A, D and E may be
in one straight line. Line | Length (m) | Bearing
B AB 110 83°12’
' BC 165 30042’
CD ? 346°06°
DA 212 16°18’
3A.  Explain in detail intersection method of plane tabling with relevant figure.
3B. | List out any four differences between direct and indirect methods of contouring.
A theodolite was set up at point | and the reading on a BM of RL 1583.55m was
1.875m. The staff was then held at two stations P and Q and the vertical angle of
4A. depression readings on the staff at the 4m mark were 4° 30’ and 7° 34’ 30”
respectively. The distances between the instrument and the stations P and Q were
300m and 500m, respectively. Find the RLs of the station points P and Q.
4B. | Explain the relationships between the fundamental lines of theodolite.
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Fill the missing figures and complete the level book. Apply usual check

SM

Station BS IS FS HI RL Remark
1 1.175 X 100.000 BM
2 X 98.975
3 1.47 X
oA 4 2 X X 98.100 X
5 1.9 X
6 X 97.200
7 3.5 2.5 101.1 97.600 X
8 2.65 X
5B What is sensitiveness of bubble tube? Derive and Explain field procedure for finding = 4pm
" | sensitiveness of bubble tube
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